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1 An unusual art contest took place in the United States in 2018.

2018Hoil Ol=0llM S0t 0l thal7} ZHEIHCL

2 The artists taking part were robots!

It 3PE2 2RS0IUCH

3 It was the human who came up with the idea and directed the robot.

OIO|E|NE =2 2RE XIAISH X2 HEZ ARO|UCL

4 Some robots painted creative landscapes. Others copied artworks from the past. @

ofH 2XS2 YoXRl SFS JFCL OE 2RS2 17| DIgESS ULt

5 The robot that took first place copied a painting by Cézanne.

1915 AIXEt 2R2 MiEel a2l ZU3HC

6 The robot reproduced the painting’s pattern on its own.

J12R2 AAR 1 O8I0 IjES ChAl 2HE0] WKk

7 Some artists object to using robots for art on the grounds that it can’t reflect

human creativity.

OfH 57152 Qlzio] Holy
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8 Robots are tools for creative expression in the same way that cameras are.

EXRE2 72t 3 R} 0ETIXIZ PRl #HS fIgt =7S0ICk
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The world is running out of fossil fuels like coal and oil

M7= MEtnt Meet 22 3tM HeS0| IZE|T ULt

We don’t have to worry about using it up

Lil= aNS O Mu2l= ol chsli 24&E 2Tt gict,
3 Hydrogen is made from water and is recycled back into water after use
A= SE IE0X|1 AR 20ll= CHA| 22 THEEEICL
4 Hydrogen generates water vapor when burned
FAE HAS ) £57I5 YMAIZICH

5
A= EHAS HSE £ U MRS LK E o AZICE
6 We have not yet found a way to produce hydrogen at a low cost
SIX| ZRACH

7
SAE B 4 QIOjM P2l IS XS 1 FolsHor B Wt rt,
8 If these problems are solved, hydrogen might become the best energy source
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1 He encouraged me to speak up.

J= W7H o 3 2el=8 8718 S0t FUch

2 His name was William Shakespeare, a 16th-century playwright.

2| 0IF2 16MI712] F27t 22| MUATIoRACE

3 Shakespeare could not express himself fully by using nouns only as nouns.

MIATION: BAS 9 BAIZAE ARSSIORIM RIS 2I745| E1E 4 YL

4 Shakespeare tried breaking the rules of grammar.

MIATION: 2¢ P Tcajsiol

5 Shakespeare used nouns as verbs without changing the words.

MISIATIONS ElOfS HSHAI7|X] 241 BAIE SALZ ARSRIC

6 When people saw Shakespeare doing this, they were impressed.

AIZE0| MIYATIO0Z7} 0| sh= RE EUE W, OS2 AYS LU

7 We try to erase the lines between all parts of speech.

R2l= 2E A 2o FAME glolizix Sict.

8 Next time you see a noun used as a verb, think of Shakespeare’s wisdom!

CiZ0ll gLlo] SAIZ 201 HALE 2CHH, MUAL02| X[&|1E A2tsl EaH
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3  insult(n.)

4 be aware of
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6 sendout

7 disgusting
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12 invade
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A willow tree sends out a special smell when it is attacked by insects.

HELIRE 25507 42 s o S8t HAIE WE=Ck

Knowing that harmful insects are nearby, the trees make a certain chemical.

S22 ZFS0| 2ol Ack= RS 7| =IH, O UHFS2 ofH i8IS 2S BhE0] ot

This chemical drives the insects away from the willow trees.

0| 35t EE2 HELIZSHIM 5SS FOIHCH

Poplars send out a warning smell when they are invaded by caterpillars.
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The trees that receive the signal give out disgusting chemicals.
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Their smell acts as a good means of communication as well as defense against
their enemies.
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1 You probably imagine a very cold place covered with ice.
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2 Erik the Red named it Greenland!

Erik the Red= JX2 J2I2t=el2 0IF X|UCH

3 His trick worked well, and lots of Vikings moved to Greenland.

Jo| £ FPF UL, B2 HIo|ZS0| OZIRER 0|F3UCH

4 Greenland makes you think of a land covered with plants.

J2gEE gl =5z Bl &S sk gk

5 After Erik the Red killed someone on Iceland, he was kicked off the island.

Erik the Red7} OIOIERIENIM MRS FQI1 2, O= O oM ZEARICL

6 Although Iceland is located quite far north, it is warmed by the Gulf Stream.

HIS OOIERIEE OFF B S0 fIxlsH UXITH, TR2 HA|Z 2HF 20 wHESich

7 Only 1% of Iceland is covered with ice.

Ol0|SZt=0| EHX| 11%2t0| Y222 FEH UCH

8 An explorer who didn’t like the island called it Iceland as an insult to the place.

O S Hoj3HE 8t 2RI O ol et 222| 2jojz 1 ¥S ololEE =Rl EXIC
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1 Are two foods with the same number of calories equally nutritious?
U23| 7t SUS F 7HX| SA2 AT 22717

What'’s the difference between 100 calories of a sweet potato and 100 calories

2
of a cola?
100 ZZ2|2| 170ret 100 ZE2|e| S2t Afoje] XI0|-2 FNL?
3 Sweet potatoes provide us with carbohydrates and proteins as well as vitamins

T0k= L2[0fi7 HIEfRIRAE OlL|2t ElealZu THHE

OEM T70k= tHEE HAE! Z20|C},

Don’t make decisions about what to eat based on the number of calories alone

HE AVIE Z2F5HX| Ofzt
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Be aware of not only how many calories you’re taking in, but also how they

mjo

7
affect your body.
CHAIO| HOfLt 2 ZH22|E ME|SH-LEEOL OfL|2t 2 Z4S0| SHAIQ| 2of| o ¥ O|X|=X|S olat,
8 Knowing the nutritional value of your food will help you make smarter food

choices.
S S E £2FE Zo|ct,
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He explains how hot water removes natural oils from our skin
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Hot water washes away the natural oil that your body produces
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4 We bathe so often that soap is not really necessary.
Q2= 223 LI TS HlF7t B BREHR o4k,
5 Skin doctors advise people not to use too much soap for different reasons

|2at ONS2 CIE 0|RSE MRS HISE T Bl AFSstX| 2atn Ssict,

6 The harmful chemicals can be absorbed through our skin

si=e 8f5t 2xS0| 22| IFE S8 S48 4 Urt,

7 If overly used, soaps might remove beneficial bacteria living on your skin
KILEX|Al AEEH, Hls= FAlo] TR0 A1 = 0|22 BiE|2|0IE HM|7HE =& ULt

Doctors suggest that you take a warm shower without soap

g AE HIRteiC,
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1 What kind of factors affect the outcome of a baseball game?

OftH 20150] ok Z7(2| Zutoll &S DIXI=71?

® FEp.51

2 The weather is one of the most important factors that influence the outcome of

a game.

2= g7| Zojoll FEHE 0Ixl= 718 528t 2215 0l stolct,

3 This is because the weather affects the density of air.

0|X=2 M7t Z7|2f L0 FEFE 0|X|7| h=0ICt,

4 This means that when a baseball travels, there is less air for it to hit.

0|N2 0F30| 0|58 mi IZ(S)0l FHE 717t o Hck= XS 2lojgtict,

5 The baseball travels farther when it is warm.

(W71 mpSEgt o= oF30| o Ea| oISSict

6 The average number of home runs per game was 2 in April, but 3 in July.

g

0}

T 27t 4= 270RXIT, 7E0l= 37HC

7 Home runs are more common high up in the mountains.

21
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8 This is why the most home runs in the Major Leagues happen at Coors Field.

0lZi0] mio|x2|a0llM 7He B2 30| FojA EE FF0IM LI2E 0IF0IC
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Before Impressionism, most painters focused on traditional subject matters

0|0l ChF22| EPIE2 HSXR! TS ESUCL

o| A |

The Impressionists took an interest in the daily lives of ordinary people

oI B71ES HE ARIEC|

3
2yt EF0E2= E3 SHM AZS E7(|= ARRISS JR0
4 Artists believed that everything had its own unique color
Qictn gy,

B7IS0| BE A2 O XN S8t S JHX|1

The color of an object constantly changes depending on the amount of sunlight

5
Exlo| AjzZto| o ol w2t FZiglo| HStch,
6 The Impressionists painted the objects according to how they saw them in a
particular place.
O EULLioll m2tM EMISS IR

ot ZA0M IRSEMS)2

ol 3Pt 2501 £
They introduced the joy of perceiving things as we actually see them rather

than as we are told to.
OS2 27t QA2 T S2 27} ofL|2t L2171 ANIZE = 2 AEE QASk=s EH22 A3HCt
8 Impressionism became one of the most popular movements in art history.
QIMZFOol= nlEAtof|A 7FE 217] Ql= 2F & siLiot EIIC
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analyze
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destroy
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The hunter was impatient to see how the dog would perform.

I MEE2 O 071 o= Y= ZHF7H Q=X B2 20 Qo Wt

As soon as they entered the woods, the dog picked up a bear’s trail.

I=0| &0l SOMZIALXL I 7= Fo| XS ZARICE

The dog stopped, sniffed the ground and then headed in a new direction.

k= B MM T S 2ol W22 wates g3t

The dog had noticed a deer’s trail, which had crossed the first trail.

O 7= A e EXE 712 T 2 ALl EXIE JIUE Aol

= M

Tloh

The dog stopped again, smelling a rabbit that had crossed the path of the deer.

I 7= CHA B8R MM ARSO| XLzt Z2E 7122 2 E77| HAIS 2UCH

The hunter caught up with his dog, only to find it barking proudly down the hole.

I AGES T2| JHE WEREUKIRE, JH7t 7 ofHE sl 2|712ft51H| Hof th= 2
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We can get distracted easily and fail while pursuing our goals.

23|

rr
fijn
A

SHES E75H S0t £7) ABtsirA Mufet 4 Qict

That’s why once you set a goal, you should just stick to it until the end.

3200] GHAl0| Uct 21

Ml

M<H, gdlo] E71X| aRE T80k 5= 0lF0ICh
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1 Tropical forests are burnt down to make your hamburgers.

Sl 222 2| AHAHE 2HE7| flal EHRITICE

ro

2 It's not easy to relate hamburgers to the disappearance of the forests.

4 You have to destroy the habitats of 20 to 30 plant species.

L2 20~300f B2 MES2| MAIXIE nmfalsHof St

r

5 Roughly half of the world’s rainforests have been wiped out.

iAo 2 TINA| Sei 22i2| Hio] 45| o= ACH.

6 About 80% of the cattle raised in the rainforests are exported to consumers

globally.

g LEOM ARE 2 80%2 AS2 TMAXESE AHIXS0IAH +=EEICh

7 With the increasing demand for meat, more and more forests will be destroyed.

FOll chet =27t Soidoll w2}, FH of B2 =50 utu| 2 ZAo|ct

8 If deforestation continues at the current rate, the remaining rainforests could be

gone altogether.

A2 Thupt 2B =2 ASEICKR, Yot ks Bl QS V5| M 4 et
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1 Learning about ancient humans is quite challenging.

S AZHS0 CHallM HH2CH= 22 2 ofZch

2 While you’re alive, your bones are alive, too.

SH410] Ao} 94

rir

Setol

rir

gilo| S Aot UCt,

3 After death, the hard bones remain sources of information.

ro

=2 Flof, THErSH iS2 FEO| £XZ ot Q| ElCk.

4 By analyzing human bones, researchers can discover a dead person’s age, sex,
race and height.

[0

21ZIo| S EMBlozM, HFHE2 F2 AlRte| Lo|, 48, 21F, Ja|1 MFS Lot 4 QlC.

ifn
HI
Ml

5 Researchers can even tell how many children a woman had.

HAYSS MXIO] 3 O1O| HOfLt B2 RS WRH=XIE & 4 Qe

5

6 The bones and teeth also show what kind of food people used to eat.

7 Researchers can find out which muscles were often used.

HTUSS O TRO| XIF ABEIEK| Uop 4 ict,

8 This can give us an idea as to what kind of work a person might have done.

0|2 22|0iAl I AlZto| ol ZF2| ¢S HSXIoll 2siM OIOICINE MISE 4 UL
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1 occur

2 immediately
3 raise

4 approach

5 conduct

6 frightened

7 intake

8 liver

9 lose weight
10 lower

11 reduce

12 occasion

13 nutritionist
14 cut down on
15 break down into
16 inreturn

17 take away
18 hitupon
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adjust

crew

native

effective

eventually

fuel

store

consume

order

visible

warn

deceive

starve

crisis

get over
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land on
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Christopher Columbus landed on the island of Jamaica
F2|AEH SEHA= XIH07} Mol HE3HLCY.
2 The natives couldn’t keep providing Columbus with food
HFUS2 7l&sHM SEHAA 242 & 4 SiACH

Columbus hit upon a good idea to get over the crisis

3
Z2 00|C|0fS AyZfsH Wit

BaHAL 0| 9IS 328

Columbus’ god would be angry and take away the moon

S jotorHE A

Leoll &

HI

gtAo| 2o

1T

Columbus knew that there was going to be an eclipse of the moon

NS Y1 UALCL

o

Fl'F

40| glofet ol

rr
MY

A= 24

An eclipse is an occasion when the Earth is between the sun and the moon

1]

U= molct.,

SAIS X177} EfSRE B AfOLof

Since the moon is in the Earth’s shadow, it is not visible

7
2 X|7te| IR0 7| ol HO|X| §4=C
8 The natives begged Columbus to give them back the moon in return
HFUS2 A TS0 &S £S5 el S2HA0A| of234Ct
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3 Some nutritionists say that this is just a myth.
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4 Only 0.6% of people who ate less succeeded in losing weight.

7 H2 MEE2 TRl 0.6%EH0| £0] iXl= ol JS3UC

5 80% of those who did lose weight gained that weight back.

FLZ Ho| BRE! ARZIS2| 80%= CHAl ZHMC| XSS = SOICL

6 Your body slows down its metabolism rate when calorie intake is decreased.

Zza| dFzhol ZAg mf gile|

fo

AITICHARE

o
Ar
H

ch

7 When your body takes in 500 fewer calories, it burns 500 fewer calories.

8 Even if you eat less, you won’t lose weight in the long term.

gilo] H7|| Hoj2te gal2 FIIHez Ho| #HX|X| 942 AOICt,
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A good way to lose weight is not to eat at all for a certain period of time.
AL

2 The food that you eat breaks down into glucose or sugar.
o] 2= SN mEg X goa s
3

gilol Z0| g2 Mstn

Ir

HIEH,
—— od

[

The way that your body stores and uses sugar is very unique.

rlo

04 =E3IC.

2O C|
e =2 e

Your body transforms the sugar into fat and stores it in the muscles.

2 Koz HIAAM 220l ML

As long as sugar remains in the liver, your body won’t use the fat in the muscles.
o] Ztol| ‘o= &t

This is why you cannot reduce fat just by eating less.
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If you fast for a day or two, your body will use up all the sugar in the liver.
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imitation
phenomenon
migrate
immunity
vest
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bean

sour
evergreen plant
yield

suicide

claim
moonlight
sweeten
rainy season
dress up
stick to

sound sleep
tell Afrom B

crash into
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contain

crop

confuse

last

encourage

affect

sorrow

blame

poison

flavor

crawl

normally

glorify

block

endangered

reproduce

mistake A for B
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1 Lemon can taste sweet like candy.

Zli=2 Algtnt Zo| Toto] & &~ QUCk

2 The berry’s bush grows up to six meters high.

0| M| =2 6m F0I7X| Xf2iCH,

3 It produces white flowers and small red berries with a sweet flavor.

JZ2 sl 2o TS0 L= X0fet iyt abd

mjo

MASICE
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4 A bush yields two crops every year after the rainy season.
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5 The fruit contains a special protein called miraculin.

1 Eoi= oj2k 2202t £2

i
am
U
e
it
£
A
o
ol
0
ol
0

6 When you eat miracle fruit, this protein sticks to your tongue’s taste buds.

glo] 71Xo| HoiE HeH, of thlzlo| g4 5ie| SkE22|o| EakE=trt

7 Your brain mistakes acid for sugar for a moment.

SHAlo) i FA| SOt Al o@ EPtsict,

8 This sweetening effect only lasts from 15 to 60 minutes.

0| Et5t0| L= &h= BHX| 1520 60=27EKI2 XI&EICE
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Every year, millions of birds die because of city lights.
OjH <=0t 0f2|o] AS0| EA|2| W 20| E5S 4=Cl.
2 Migrating or hunting birds at night find their way by moonlight and starlight.
gholl O|Sst7 Lt Afdfel= MS2 Sl Halo g ZS Fojzit,
3 The birds crash into buildings because they are confused by the bright lights.
MES 92 Yo 2ls S&to]l thHx|7| 2ol =S| FREICH
® 4 Baby sea turtles often crawl toward streetlights.
M7 HICHHEE2 5 7128 Bo= 7|0jZih
5 The turtles believe the bright lights are the moon shining on the water.
1 HES2 $2 Y2 =0l HIxl= Y2 ofzich
6 Some animals even have difficulty having babies.
U= S2=0 Mx|0f MYIE e d of2eS FHert
7 Both humans and diurnal animals produce melatonin during sleep.
MES FHY SES 25 +H 30| WAELIS HASIT
8 Melatonin is a hormone mainly produced in the dark.
HEH2 T2 0F2 1jf IS0{X|= SE20|Ct
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1 One day, Werther decides to end his life
Ol 2, Werther= 19| 412 Z0IX|7|2 ZASICE
2 He sits down at his desk with an open book and shoots himself
J= M3 Hx =2 i 2Moj| oot S2 A0t XpASICE
3 Many men throughout Europe did the same thing as Werther
8 MHo| i2 HAE0| Werther2t £2H0] ZHCH
4 Werther’s suicide led to more than 2,000 suicides by readers of the novel @

| SXHSoll 2J8t 2,000740] H= AHES ZeHRCL

ANO| =

Werther2| XHI2 1
The phenomenon of such imitation suicides started to be called the “Werther

Effect.”

Al ‘H|ZH|Z S1f2tT £2]|7] AIRRHCE

0[2{§h 2} Xpaf Si4d
Famous American actress Marilyn Monroe killed herself by taking sleeping pills

S510{ X3l

flIIHJ

|

0l=2| 73 ol ofE2l =27t

Though Michael Jackson didn’t commit suicide, some fans killed themselves

242 ONLISIXIE!, T HS0| RHARICH

D}OI B0| Kpalst

= T

Some people blame the media for creating this phenomenon

21 0| cHal CHETHAIS HIHBICE,
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smooth
disaster
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upload
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modify

as a token of
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1 A male penguin offers a female a pebble as a token of his love.

TA U2 A FEZ A ZASS MAISiTH

2 Penguins use pebbles to build stone nests.

3 It means that the female has accepted the proposal.

TS 0| TS WOISHCI= HS olnfict,

4 The two partners stand side by side and perform a mating song.

F OEHE LIz MM ®517| 2iE 2Lt

5 The couples remain faithful to each other for the rest of their lives.

O HE2 G St M=0iA S48 st

6 Pebbles play a very significant role in the choice of a penguin’s mate.

7 A male penguin will search the entire beach to find the smoothest pebble.

El

471 T

[

7Fe st ZUES 37| flsh a7 MRS FIR Aol

0:
rlo

8 The male may attempt to steal the best-looking pebble from a neighbor’s nest.

TA2 0IR SXIOIM 7H 5 Hol= ZAES X2 EXl= 220

WORKBOOK | 27

19 2| c{A—tHoa— Level 7 0H3—uT1(001~056)-OK.indd 27 @ 2020. 9. 16.



O X |- XXF Al ﬂOI 294
2 0 ™ |_x == "E-lgT
® FEp.53
O CI3 Zt & = I 20l F2l5t0] sHASHAIR
1 This is called genetic modification or GM.
0|2 FEX 2= &, GMO|2t I},
2 The idea of changing genes to develop new kinds of crops is not new.
HMZBICHS A2t M2 H ORLICh

EIZS JHdtst7| flsiM RTXE

HE ol Rt

mfo

SIS 0] i

Traditional breeding follows nature’s way by combining genes between similar

plants.

HIet A=

ro

ox
HE 25

Bacterial genes can be inserted into corn to prevent insect attack.

i welziol SRR 24401 Lol 4 Utk

ol=
O

HEsH= oty 9
The side effects are not limited to animals.

24=Ch

S22 SEEMAL F6i=IX|

=]
To=2

Since people started eating GM foods, allergies have rapidly increased.

S o) AlEIS OfRY2 22717} 345 S7KCH

ARISO| ERt A5 MZS

We might have to face a terrible disaster in the near future.

Ok

oil ZHalof eX|= ZECH,

f2l= 77k2 ojzHofl SRS 1Y
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1 In the future, this won’t have to be the case.

0j2hofl= olZdo] T x| §4E + ULk

2 You will be able to maintain your relationship beyond death.

ro

o

E)l‘An_I:'-TE

o

H gile| BAIE RXIE = US Holch

3 You will be able to text your girlfriend on your phone, just like old times.

L2 T FHEM ol oISl EXIE 2 + US HOICL

4 Having your girlfriend as an avatar will be like she never left.

gLlo| XIZIFE OHIEIZ = 22 J147t MLEX| 942 Znt ZE AOICk,

LS

5 How will Al make this possible?

2USXIS0| 0IRE oA 7ks3HAl Er?

6 You can create an avatar, a digital version of yourself.

L2 XRLo| CIXIE EHQ! OHIERS BHSOid 4 QUL

7 Your family could communicate with your avatar even after you’re gone.

ghle] 7152 dxIo] gilo| mit Foll= G4le] OHHiEIRl 2AASS o 4 US AOIC

8 The concept of death as we know it might change.

22|17t ok= F32) T2 HERl= 2 2Lt
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A cfS Zof ot BEo| P2 S AN, B CHS S0l sHsis 20| CojLt BEHS M.
visible (=0l) 2ol= Z=HSICH prove
2 glow Lic 2 ~0f EE5ICH = reach
3 distant H, Qo U= 3 =H™alct measure
4 located oIx|5t 4L ™ EHOM U= distant
5 shorten CHESICH 5 Z1HsIcH exist
6 gorgeous O 9zl b  Lolxf2ICH THEC}  realize
7 resist (8=2) 2axict 7 S, fEea risk
@ 8 certain Oftd; SHalst 8 oAt AA| SiCt earn @

9 twinkle i el 9 o™, &H advantage

10 fall (gto]) &orct 10 L=EA7ICH expose

11 galaxy 25t 11 =¥ =35 peak

12 universe 25 12 (FeE) @ o2 S2Ict distract
13 growth hormone #zs= 13 7IcH expectancy
14 conceal &7\t 14 (AfRHQ) 7| height
15 light year 2 | 15 (& ™72 S0|) Xt goout
16 naked eye |0t M= 16 ~0| ==35IC} pay attention to
17 stirup X=5ict 17 slo{7|A| defense mechanism
®
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1 Many stars that we see in the night sky are not really there.

227t oksolM 2= B2 ES2 A 7{7|0fl Q= 0] OFHCE

S

2 A star’s light might reach us long after the star stops existing.

EHH]
EES

rlo

1 Ho| Exlistx| pf2X| 224 2ol 22/0l|H SX|= ZECH

3 The light from Proxima Centauri takes more than four light years to reach us.

ZEAOREe| 2 22[0l7 2= ol 42 ol4o| Z2ch

4 If the light went out today, we wouldn’t realize it until four years later.

1 50| 2= HXH, 22|= 4H0] X 200k ORE LA € HoIch

5 Some stars may have died before the Korean War.

in}

0-|II

HE
=22

rlo
ro

= T Fol| ABR=X= 2ECL

i

6 The most distant stars visible to the naked eye are 2.6 million light years away.

Fetlez 2 5 U= 7H H A2l U= EE2 2602 2 Hojx ULk

7 Some of these stars whose light we see today may have already disappeared.

2sd 227t 22 9

rr

HHE U= 85 3 5= 00| ARIYE=EXIE 2L

8 The fact that we see light from stars far away proves that the universe is huge.

2|7 Hal oix = EHE EChs A2 571 7{tisith=s 12 SFEICL

WORKBOOK | 31

19 2| c4{A—uHoa— Level 7 0" —uT71(001~056)-OK.indd 31 @ 2020. 9. 16.



O] ACH
® HEp.54

23

ojo
9

AHZ
=2

C}S zt 22Xt
1 Most people think that being tall has more advantages than being short
=0} EF0| of BiCkD A2t

20| 717t 22

bl ARISS 717t

==
2 There is one advantage that short people have over tall people

et 71x| FFol et

717F 252 AiEtE0| 7171 2 AESoll isl 71X

3 Researchers found that shorter people have a longer life expectancy.

AEoI o 7

ro

RS 717} X}
4 There are certain growth hormones called IGF-1 in the body.

=il= o HS2E20] ULt

Z0ll= IGF-10]2t
5 These same hormones also cause the body to grow old faster.

== O ga| L3l&[A| Bict

= NS HaiiCh

o]l s
6 Researchers found that smaller mice had a much lower level of IGF-1
Xle] IGF-12 7HX| QUL
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e

xe 50|

rlo
rjo
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o1
7 Doctors should pay special attention to these results

ZuS0ll £

== &L

OMNS2 0] Z
8 Doctors give the growth hormones to small children to help them grow taller.
=2 957 9sh 0] MEEE

QIAE2 717} =2 ojoIS0I .
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The Maldives is unique for its famous glowing beaches.

It's not during the daytime but at night when the beach reaches its beauty.

11 50| OFSCR20ll 0|2= W= HEZ % S210] OfL|x tHo|ct,

You can see millions of blue neon dots twinkle like stars in the Milky Way.
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When the waves hit against the beach, the plankton are stirred up.

mie=ot sl RXE o ER3E0| XSS =Lk

That’s because plankton glow when exposed to outside pressure.

0|2 E23=0| 27| AUHo|| =E&|H ZLt7| mi20|ch

Plankton try to distract other animals that they think are attacking them.

EY3IE2 OS0| Y25 ol OSE SHsI U= CE SES2 FoIE W HIZ S2l27 sttt

For your next travel plans, don’t forget to include the Maldives.

gilol oS ol Al=loll= SCIEE ZEA7I= RS WXl 012t

The Maldives is one of those places you can’t simply resist visiting.

=Cl=

rr

gilo] L= YIstn 20l R HE Y=o YAE J0fl stolct,
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1  struggle (n.) £, M2 1T zA legend

2 organ a7, 7| 2 33 chemical

3 evolution 5t 3 zEsdsl candlelit

4L last XI&3ick; opxjatel L HE battle

5 servant 510l = 5  B2EAMsict analyze

6 slope ALK 6 7HEsIcH refuse

7 secure oryZt Q= 7 QlojLiCt, EHASITE occur

8 mammal IRSE 8 KX} volunteer

9 point(v.) 72|17 |ct, Etaict 9  ZFxlsich 29 park

10 deceive 2o0|ct 10 =4 landscape

11 stomach 2 11 UWEe internal

12 downhill Liz2(atel; Lhz|atz 12  X|d9|, six|e| local

13 swallow A7t 13 F2c}, 22{7ict roll

14 surrounding Z9lo); 8+ 14  MAM3| Al2ER|CH fade

15 sweaty woll ®2, ZE5 15 AlZo| opaist nervous

16 propose adeal 7= ekt 16 (SA2) Aslsict digest

17 spook 24, HAl 17 ~o= ZFIssict evolve into

18 by itself MEZ 18 ~2 22{X QUC} be known as
19 compete with ~Q} AMSICt 19 ~2f SHH3ICH cooperate with
20 beg for ~g FZsic 2hsict 20 A%l BE H|msIC  compare Awith B
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1 We have happy feelings when we fall in love.

2= Atoll HHES o A=ot AFS LYICL

2 Have you ever wondered why those feelings do not last forever?

A

ro

of a3

oN

S0l GHal XIEEIX| =Xl SSRE Ho| A=71?

3 The answer lies in a chemical called nerve growth factor in our brains.

rir

SHE2 22| & 2ol U= ME dF QX2 22l= stet S 2ol Ut

4 This chemical makes us feel romantic in the beginning.

0| stet SE2 F7|0l= R2|7t AlZe| ZAHE Ly|=F 2H=CL

5 When we first fall in love, levels of NGF increase, but that chemical fades over time.

22|17t A2 Aol #HES ©, NGF =xI= S7IsHXIT, 1 38t 2 AlZI0| XI5 ZF AlZHEIch

6 The researchers analyzed volunteers who had recently fallen in love.

HPXIS2 Z20ll Arholl #HEl XIBXSS 2434

7 The researchers compared their levels of NGF with those of people who were
single.

HAXE2 OS2 NGF X2t =
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8 It may be this chemical that makes guys buy their girlfriends red roses!

EHXS0| 252| ot TIF0lA| Wt HOIE MFAH HEE AE HIZ 0] 315 27! A ZLH
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1 This single-celled bacteria evolved into various organisms.

0| ThMiz= 2| BiE|2|0k= CHet MEAZ TISIRHCE

2 It happened in the process of bacteria competing with one another for survival.

JZ2 HE2lot YES 2lsll M2 Z¥sh= nFEollM 2oiktCt.

3 The small bacteria refused to be digested and begged for its life.

A2 HiE|2|ok= 2312V |E AR5 S52 FERCL

4 The small bacteria proposed a deal to the big bacteria.

A2 diE|2|ok= 2 HiE|2(otol|7| AH2HE kKL

5 Thatis how the small bacteria and big bacteria came to exist together.

I siM =h2 Bie|2|otet 2 2|0t SESIH| 2 AOICk.

6 The small bacteria transformed itself into an organ.

Z2 HiE2|oks XIS Stte] 7oz HIPYAIZICL

7 This organ is what we now call mitochondria.

0] 7|&o| 22|7} 24| D|EZE=2|0f2t B== Z0|Ct,

8 A single-celled bacteria evolved into a complex organism, an animal with

mitochondria.

EtM|=2| HHE|2|obt DIEZER|0IE T SEQ! SE 4EHZE TSI
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The car will slowly go up the slope by itself.

I xh= ME=Z ZAXIE TXs| 22k Holch

The car will roll up just like the one on Jeju Island.

T Rh= ORR| MIFE0 A= WA $1=2 2212 Holch

Spook Hill was where one of battles of the Civil War took place.

AL

rlo

HE T HE T stt7h LoiktE RoIUC

i

That is why the hill is known as “Spook Hill.”

0|70 I ZAIZ7} ‘A3 g2 ATl 0|ROICE,

A research team conducted a study on Spook Hill.
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The illusion occurs because you can’t see the horizon from where you are.

FZk
=

a

b
rIo

gLlo| A= RollM Flo] +HME EX| 2P| 2ol Lojict,

The surrounding landscape makes the hill appear to be going up.

FH ZZ2 O AR 2 Q= AR HolAH| 2hECE

The next time you see one of these “ghost hills,” don’t believe the local legend.

Chgol g4lo] o2{gt ‘RE BAZE S0l stE 2l EIH, O X|9o| TMS UX| ok,

WORKBOOK | 37

19 2| c{A—tHoa— Level 7 03 —uT1(001~056)-OK.indd 37 @ 2020. 9. 16.



A CIS of ClojLt B3| R2|Y £2 MA|R,

—

10

11

12

13

14

15

16

17

artificial
pleasing
diverse
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conduct
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physicist
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There is a saying that “Nature knows best.”

“XiHo| 7K E k2t

rir

Aetol ict,

This seems to be very true when it comes to cleaning wastewater.

Scientists have been studying how water is cleaned in nature.

of

101

N

rlo

=0| Xt JEHoIl A oL HSt=l=XIE Htah AL,

Bacteria break down some of the pollutants by eating them.

I
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o

Other harmful chemicals are removed when the water passes through the soil.

&t RS2 20| = Sulel XILH mf M7=

Realizing this, many countries are making artificial wetlands.

OIE 27 =X}, B2 Li2IE2 218

i
i
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These wetlands can clean wastewater without using chemicals.

0|23t SXIE2 =l S2EE MESHA| 21 HiE Fale & ULk
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1 Animals usually choose their partners because of their smell

S=52 28 M m2o| 2S2 ®2 nECh

Humans tend to choose their partners for their smell as well

w2 Meste 280l ct,

EESH A 20 X

O|IZLS E

Every human being is born with a certain type of smell

| HAHS ZHX|2 EHOJLICY,

A person’s smell is determined by his or her immune system

t2el WA= O = 12| | H|7loff 2fsh 2=t

The immune system protects the body from infections and diseases

HasiEot

mY'é

% A= 2 ZMozpE =

A couple with different immune systems is likely to have healthy children

7Pl 70| ZiZst olo|SS 7HE 715-80| Ak

M2 CHE HY AAE

Humans are designed to like partners with different smells from their own

2 S 7R WOl 52 L7ISE SHSoH 9ict

QIZH2 Xplof 2t

This is nature’s way of making sure that children are born with diverse immune

systems.
| diAlo|ct,
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Pink noise is the sound that is most pleasing and comfortable to people’s ears.

3 =0|== MRS Foll 7He £ HelsH S2l= A2(0ich

Pink noise is a sound that is present in nature, not artificially created.

g3 0|== ASHo =z BS0T 0] of! ol Exlish= A2|0|ck,

Two physicists conducted research on the rhythms and sounds of music.
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The more popular the music, the more pink noise it contained.

2910|2717} QOB QISAE, IS T LOIXS T BO| JHXIT UL

Educators use pink noise to improve students’ memories.

TSRS SHIS0| 7|0f2i2 SANTIY| SIsh T 0IXS ARBSicH

Students who listened to music with pink noise got higher scores on tests.

L= 1-0|A7} 5017t 342 52 SIS NZOIN O 52 H4E weltt

Pink noise has been used to develop air conditioners.

g3 =0|=E= oS IHESh= Ol ARSI 2T
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messy

land

athlete

caring

disorder
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germ
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1 Bill Bowerman founded Nike, the world-famous shoe company.

Bill Bowerman2 MAIZSE {ESH AL S|AIRI LI0[7|E MESHCL

2 Bill disliked the metal spiked shoes that were widely used at the time.

Bill2 EAl 22| X0|E =& Amnlo|37} 8l MES HO{RACE

3 Bill tried to find lighter and more comfortable running shoes for his athletes.

Bill2 12| 25452 #lsl O 7HEx of Ht 253

i
ME

o7 3

3%

ch,

4 The shoes he could get weren’t good enough.

5 Bill was watching his wife making waffles for breakfast.

Bill2 OF! AlAIZ 19| OlLH7} 2FF BtEE WS XIFET UL

6 Bill asked himself a question that might seem silly to other people.

Bill2 CIE ARRISII= HIE Z0t HUX| H2= HES AAZ|A| 5l ERICL

7 Bill wondered what would happen if he poured rubber into a waffle iron.

Bill2 17} 2t == S0l 1FE F2H o2/ EX SS3Ch

8 The silly question led to the waffle sole, which was a great breakthrough.
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In gangster movies, we often see crimes take place in back alleys.

| REZ0IM HE7t
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2 The walls are covered with messy writings or drawings.

g SMet azlez Hof UCt

2 x|xig
3 Ifawindow in a building is left unrepaired, people think that no one cares about it
®

245t}
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4 People are more easily tempted to commit crimes.
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HOTICH

AZE2 O 27 HEIE MXIED

5 If we remove a sign of disorder, the crime rate should decrease.

L2171 FENMe| FZE HM7HotH, HZ|E2 oot
6 Police officers kept the subways free of graffiti.

= XISHE0IM HME GOUC
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7 These actions signaled that the city had taken control of the subway again
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8 The crime rate dropped by 30 to 40 percent after a year of this policy.

Ol 30~40%77tX| HO{RiCH

S AlRYS
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Pasteur said that diseases were caused by germs, like bacteria and viruses.

OIAE[2= HO| HiE|2|0fL} HIO|2{AR} ZE2 MIZHof| QJ5H kAl

e

Chor 3AC

They believed that bacteria were only the result of diseases, not the cause.

52 HiE|2lok= (el) #010] OfL|2t BHX] Bo| Zuj o2t YL

Those who opposed Pasteur compared bacteria to flies.

OIAE[20f BhSh= ARIE2 HiEI2(0FE mi2|ofl HIFIHCE

Flies mostly go for food that has gone bad.

oj2|S2 oAl gat SAS ozl

Medical doctors unjustly blame bacteria for causing diseases.

AE2 Rs EE 2erl= XS HiH2lole| ez Faict

Sick people don’t get better just because bacteria are killed.

T

RS2 | HE2(0t7F Z=Cha siA LIOKXIX] e=C

On his deathbed, Louis Pasteur actually denied his own theory.

10| UE0| Rf20lM, 20| TASIZE AN RRl0| 0|2S RS
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1 extremely 22 33| 1 24sIcH consider
2 career =g 2 ol=sict predict
3 generous st e 3 2= temperature
4 expert 27} | 4L (~2}3) of7Ict, BCt  view
5 participant =ploN; 5 X, =9l frequently
6 recommend ZHEICH | 6 =X3ICH measure
7 favorably soxo= 7  ZEZ2 L2t conclude
© 8 thermometer 2 8  Hitsict rate ®
9 physical o], Alxo] 9  DL|EEICH ZAISICE  monitor
10 analyze 2Malct | 10 xz2|sict process
11 thermostat AE =27 | 11 83 42, 735l  demand
12 personality 47 | 12 ~9| ZAM(E0|)8 BC}interest
13 behavior pattern s mi& 13 ~0f BF235ICH respond to
14 go through ~Z AmEr} 14 ~2 Loplct figure out
15 keep track of ~g 7|S3ict 15 TSI}, X|HSICH  take over
16 logonto ~0f H&SIc | 16 HA3S| sICt take one’s time
17 pick out ~g n=2ct 17 ~0O HISEICH be compared to
®
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People can be compared to both a thermometer and a thermostat.

2 4 ik

AMZE2 257121 XS 2E2F7| = Chofl HIF

A thermostat not only measures the temperature but also responds to it.

2
S 22 |= 205 ST #0F ofL|2} J o) BFSE SiCt,
3 When the temperature goes down, a thermostat turns the heater on.

ASAIZICh
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2E7} LH27HE, XS 2EXRET

When the temperature goes up, the thermostat turns the heater off.

2.

i

IEf

rr
ol

2=} S2HE XS 2EXEY|

When people have a problem, they just allow it to take over their lives.

HE XHISHES Li2] ECh

S0l A7} 4712, 252 1 70| 159

Al
6 Other people believe that something can be done about the problem.
CIZ AISS 2Rlol thsh 217t 8 4 Qick l=c}
7 They make a decision and quickly take action.
OS2 ZFE ofn We| WSS FIsich
8 Which kind of a person would you like to be?
A2 o ARO| =l H27Y?
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1 Big data refers to extremely large user data sets that are analyzed by computers.

81 clo[El= HFEoll 2siM A== HEHLIA 2 ALEXRL G0l TElS LIEHHTE

2 A big data specialist picks out only the most important pieces of information.
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3 YouTube is a good example of what a big data specialist does.

FREE 8l Hlo[E| 2717} ofH LS SH=Ltoi| Ciet 2 ollo|Ct

4 When you log on toYouTube, it shows videos that are similar to the ones you’ve
watched.

5 They first go through your user data and look at which sites you frequently visit.

OS2 A GAIe| AREX} HIOIEE HmED E4i0] offH AIES X3 WEA=X] 20

6 They figure out what interests you and recommend what you are likely to love.
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7 They monitor your activities to keep track of your buying and behavior patterns.

JS2 ghle| TFulet WS mEHS melsty| flsiM gile| 2SS ZLIE3ICL

8 Why don’t you consider becoming a big data specialist?

SH410] ) H0E| HE7b Bl 2 Mfsis X2 ofEp
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1 Researchers wanted to know how people’s hand temperature affects their

emotions.

HARE2 MRS &2 2271 352 ZAFoll o S VX=X 23 HAC

2 The researchers chose 41 college students to help them find out.

JEFSHL|

MERICH

1 AFAS2 OS0| Lotli= ol =22 & 4132 thiedsS

ffo
>

3 A stranger asked the student to hold her coffee cup so that she could write

something down.

g 5 AR 71 FRUIE S 4 JUES sPloliZ T2 7l ZE S0 E RS FERICL

4 The participants were asked what they thought of the stranger.

AIRIS2 50| 1 M 0l0j s OfEA| MSH=| T2 S Wkt

5 Those who held a hot cup rated the stranger as having a warm personality.

=2 e

fuin

i

T QIE ARSSS T WM AfZI0| TjSEst NS 7k 2o Rt

6 They concluded that physical warmth makes us view others more favorably.

OS2 MO 7= 2|7} CI2 AIMSES O S9|Xo= Wy Qt=Ctn ZEX|UCt

7 The part of our brain that processes temperature also processes feelings of trust.

2EE Xalshs ko] £E0| M2|o| Z7 Et X2

re

=8

8 Touching warm objects makes people more positive and trusting of others.

M EUE WXl= A2 AMES o SEH0|1 CHE MRS ARSI BHEC
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